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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

. This paper consists of seventy five multiple-choice type of

questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.
Example :
where (C) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any
place other than in the circle in the OMR Sheet, it will not be
evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

You have to return the test question booklet and Original

OMR Sheet to the invigilators at the end of the examination

compulsorily and must not carry it with you outside the

Examination Hall. You are, however, allowed to carry

duplicate copy of OMR Sheet on conclusion of examination.
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COMMERCE
PAPER - 11I

Note : This paper contains seventy five (75) objective type questions of two (2) marks

each. All questions are compulsory.

If Opening Stock is ¥ 10,000, Net
Purchases ¥ 70,000, Wages < 2,500,
Carriage inward ¥ 500 and Closing
Stock ¥ 15,000, what 1is the
Manufacturing Cost ?

(A) 65,000 (B) < 83,000
(C) R 68,000 (D) 73,000

What does a high payout ratio

indicate ?

(A) A High Earning Per Share
(EPS)

(B) The management is not
ploughing back enough profit.

(C) The management is ploughing
back profit.

(D) The company is earning high
profit.

Which one of the following
statements is true ?

(A) Capital expenditure does not
affect the profitability of a
concern but revenue
expenditure does.

(B) Capital expenditure affects the
profitability of a concern
directly but revenue
expenditure does not.

(C) Capital expenditure affects the
profitability of a concern
indirectly but revenue
expenditure affects directly.

(D) Both capital expenditure and
revenue expenditure affect the
profitability of a concern
directly.

Paper-I11

Identify the true statement of the
following :

(i) Balance Sheet is always
prepared from the point of
view of the business but not
from that of the owners.

(i1)) The financial relationship of
the business to its owners is
shown in the Balance Sheet.

(ii1)) Balance Sheet is always
related to a period of time.

Codes :

(A) (i) and (ii)

(B) (ii) and (iii)
(C) (i) and (iii)

(D) (i), (ii) and (iii)

X and Y are partners in a firm
sharing profits in the ratios of 2 : 1.
Z is admitted with a 1/3 profit
sharing. What will be the new profit
sharing ratio of X, Y and Z ?

(A 3:3:3 B) 4:3:2
C) 4:2:3 (D) 2:3:4

Which one of the following will not
affect the working capital ?

(A) Realisation of cash from
debtors.

(B) Sale of plant and machinery in
cash.

(C) Issue of equity shares.
(D) Redemption of debentures.

J-08-12



oS

v - 111
AT: T U H U (75) T URT § | U U % &f (2) 37k € | |elt v

AEE € |
g AR @i 210,000, I SR
% 70,000, TG T 2,500, G goATS
% 500 3R 3t=m @fean T 15,000 €, @
faf o e s € 2
(A) % 65,000 (B) 83,000

(C) 68,000 (D) % 73,000

3T A U T AT el € 2

(A) e 3791 3o 3t/ HATE

(B) VO NI AT T ST AT
T HEAT

(C) WS ERT AN T AT SHeAT

(D) AT RT ST T ARSI BT

fAffEad A A ST T ET & 2

(A) TSI =T HEOT S AT B
T el AT & IR ST
= e AT ¥ |

(B) USITA =F HHIAT i AT

ey AT § WA ST
T TEl FAE |

(C) YUSINTd =9 HoT St ST
AT T W TMIad T €,
W] META T | yifer
FATE |

(D) USTTa =g dn ST =5 St
FHIET Sl AT T GiY qeiferd
FAE |

J-08-12

ffafed & ¥ 9 F2F H Ted

X

() Togr eoen =T % giesor 9
TR foear st € 9 T @t
F |

(i) o= =mew™ &1 39% @Har &
e fordie Ty AT € |

(i) Tagr =Osm el d geEid
BaTe |

E T

(A) (i) 3R (i)
(B) (i) 3T (iii)
(©) (i) &R (i)
(D) (), (i) 3R (i)

X ARY THFH H WEERE A2 ;|
% AT H AN Sfed € | Z 0 1/3 A
ST o T TeieT fSa ST € 1 o7 X,
Y 3T Z 1 & AN GiEn S T
g 2

(A 3:3:3
C 4:2:3

B) 4:3:2
D) 2:3:4

frfefad 5 & =9 |1 U HEene ISt
H JTeT el B4 ?

(A) TIRRI | T agel
(B) GIF T HIMRY o Ahg fofhl
(C) W 3T =l ST AT
(D) SROTHAT T WA
Paper-I11



Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : When a company
earns profit prior to its
incorporation, it is called
capital profit.

Reason (R) : Capital profit cannot
be used for distribution as
dividend to the shareholders.

In the context of the above two
statements, which one of the
following is correct ?

Codes :

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.

(C©) (A) is wrong, but (R) is
correct.

(D) Both (A) and (R) are wrong.

Reconstruction of a company takes
place when

(1) the company is
undercapitalised

(1)) company has incurred heavy
losses which must be written
off

(i1i1)) the company is overcapitalised

Which one of the following is
correct ?

(A) (1) and (ii) only
(B) (1) and (iii) only
(C) (ii) and (iii) only
(D) All the above

Paper-I11

10.

Match the items of List — I with the
items of List — II and select the
correct answer using the codes given
below the lists :

List -1 List - I1
(a) Leverage (1) Short-term
Ratio solvency
(b) Liquidity (i1) Earning
Ratio capacity
(¢) Turnover (ii1) Relationship
Ratio between debt
and equity
(d) Profitability (iv) Efficiency of
Ratio Asset
Management
Codes :
@ (b (© @
A) @) @@ @Gv) (i)

B) @) @ @O @v)
© Gv) @) @ ()
D) @) @ aGv) (1)

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Sinking fund is a
charge against Profit and Loss
Account.

Reason (R) : Sinking fund is created
for repayment of a long term
liability.

In the context of the above two

statements, which one of the

following is correct ?

Codes :

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.

(C) (A) is wrong, but (R) is
correct.

(D) Both (A) and (R) are wrong.
J-08-12



I 31 e U U €, U o IR
(A) 3T TEL H HROT (R) H A9 &2
™Y

ATHHAT (A) : T FEAT THHOE 9
Td o FART 8, A 39 IS
AN P € |

HROT (R) : YT T o7 S7ereniat st
e & w9 H faaor &% o
SUANT =T8T TR ST @R & |

SYGFT & FHUA & Ty H, TEfatad §

I W ?

T

(A) (A)TE g, W] (R) T & |

(B) (A) 3R (R)IH & T |

(©) (A)Tea e, W (R) W€ |

(D) (A) AR (R) A T € |

ST T TAROT T I &, ST
(i) T HT 37T GSIIHOT BT

(i) A B AR THIAA ISHT UL
518 qoTa feram STHT =T |

(iii) P 1 S GAHLOT BT |
frefefed & @ = 98 € 2

(A) % (i) 3R (ii)

(B) & (i) &R (iii)

(C) et (ii) 3R (iii)

(D) T T

J-08-12

10.

A — 1 R g - W AR %
e L

Tl ¥ Wl T 1 T HY
T -1 -1

(a) GSireRToT OREREAGED
(eHrer) T &
AT

(b) TS AT (i) TSI &THaT

(c) et (& (ili) o1 T FEA
AR FOE % o g

(d) e (iv) TRt e
Stard &

&<
@ ) © (@

(A G) @) (@Gv) (i)

B) @Gi) @G @G @Gv)

(©) av) i) @) (@)

(D) @Gi) (@) Gv) (D)

T 3 U T T €, U ST

(A), TE = HROT (R) 1 T4 21

g

arfireped (A) : TGl he Av-eT= @
WIS & |

HROT (R) : TGfHT %e & <Heias

el o G % for gier
o ST g |

ST T HEAT o GeW H, ARG §

T DI TR E?

&<

(A) (A)FE e, W] (R) T |

(B) (A) 3R (R) T HEIE |

(©) (A)Terd &, TR (R) W& |

(D) (A) 3R (R) THI T € |
Paper-I11



11.

12.

13.

Match List — I with List — II and
select the correct answer using the
codes given below the lists :

List - I List — 11
(a) Goodwill of (i) Current
a company liability

(b) Overdraft (i1) Fixed Assets
(c) Preliminary (iii) Reserves and

Expenses Surplus
(d) Premium on (iv) Fictitious
Issue of Assets

Shares
Codes :

@ (b © @
A) () @@ @Gv) (i)

B) @O @) (a@v) (ii)
© O @ (@i @Gv)
D) G) @ i) @Gv)

In India, which of the following is
prepared on the guidelines of AS-3
(Accounting Standard — 3) ?

(A) Balance Sheet of a Company
(B) Funds Flow Statement
(C) Cash Flow Statement

(D) Consolidated Financial
Statement

What is the correct sequence of the
following actions required for the
preparation of financial accounts ?

(i) Trading accounts

(i1)) Making adjusting entries
(ii1) Balance Sheet

(iv) Profit and Loss Account

Select the correct answer from the
codes given below :

Codes :

(A)  (v), (D), (1), (1i1)
(B) (i), (iv), (iti), (1)
(©) (i), (1), (iv), (iii)
(D) (iv), (i), (iii), (1)
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14.

15.

16.

17.

18.

The main effect of inflation on the
financial statement is

(A) Profits are understated
(B) Overstatement of Assets

(C) Adequacy of funds for
replacement of assets

(D) Erosion of capital

Present value of future earnings is a
model of Human  Resources
Accounting suggested by

(A) Brauch Lev & ABA Schwartz
(B) Jaggi & Lau

(C) S.K. Chakraborty

(D) Eric Flamhaltz

Which element of the promotion mix
do wholesalers generally apply to
obtain their promotional objective ?

(A) Advertising

(B) Personal Selling
(C) Trade Promotion
(D) Direct Marketing

Who has given ‘fourteen Principles
of Management’ ?

(A) Barnard

(B) Henry Fayol
(C) F.W.Taylor
(D) Flemming

What is M.B.O ?

(A) Management by Objective

(B) Multiple Business Organisation
(C) Management by Organisation

(D) Multiplicity  of
Operations

Business

J-08-12
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19.

20.

21.

Match items in List — II with items
inList—1:

List-1 List — I1
I. Mega 1. Advertising
Marketing
II. Penetration 2. Kotler
Price
III. Promotion 3. Low price
Mix
IV. Customer 4. Post Purchase
Satisfaction Behaviour
Codes :

1 2 3 4
A) 1 1 1 1V
@) M I 1T 1V
© IV I I 1
@ MW IV 1 1

Statement (A) : Sales promotion has
a strong impact on consumer
behaviour in rural India.

Reason (R) : Rural people in India
give utmost significance to
sales promotion schemes.

Codes :

(A) Statement (A) is correct but
Reason (R) is incorrect.

(B) Statement (A) is incorrect, but
Reason (R) is correct.

(C) Both Statement (A) and
Reason (R) are correct.

(D) Both Statement (A) and
Reason (R) are incorrect.

Market sub-divided on the basis of
behavioural characteristics is called

(A) Segmentation

(B) Aggregation

(C) Precision

(D) None of the above

Paper-I11

22.

23.

24.

25.

26.

What is mass marketing ?

(A) Offering the same products
and marketing mix to all
consumers.

(B) Offering variety of products to
the entire market.

(C) Offering differentiated
products to all customers.

(D) Following concentrated
marketing strategy.

Which concept of marketing is based
on the assumption that superior
products sell themselves ?

(A) Production (B) Marketing
(C) Societal (D) Product

In broader sense, marketing
communication includes

(A) Product (B) Price

(C) Place (D) Al

Physical distribution provides
(A) Place utility

(B) Time utility

(C) Place and Time utility
(D) Form utility

What is relevant to place variable of
marketing mix ?

(A) Branding
(B) Price penetration
(C) Sales personnel motivation
(D) None
J-08-12
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27.

28.

29.

30.

31.

Find incorrect statement :

(A) Marketers arouse emotional
motives

(B) Marketers satisfy  rational
motives

(C) Marketers formulate different

sales promotions for different
motives

(D) None of the above
Non-store marketing includes

(A) Home selling

(B) V.P.P.
(C) Vending Machines
(D) All of the above

What is customer delight ?

(A) Performance equal to
expectation

(B) Performance less than
expectation

(C) Performance more than
expectation

(D) Expectation more than
performance

Which terms are often used inter-
changeably in marketing literature ?

(A) Concept, method, philosophy

(B) Concept, approach, technique

(C) Orientation, concept,
philosophy

(D) Philosophy, system, concept

Which one of the following is not
the operative function of HRM ?

(A) Development
(B) Controlling
(C) Compensation
(D) Integration

Paper-I11
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32.

33.

34.

Which one of the following is not in
sequence of personnel training
procedure ?

1. Instructor Preparation
2. Present the task
3. Try out performance

4.  Training preparation

5. Follow up
(A) 1,2,3,4,5
B) 2,1,4,3,5
©) 1,4,2,3,5
(D) 3,1,2,5,4

Under which method of performance
appraisal one person is compared
with all others for the purpose of
placing them in a simple order of
work ?

(A) Grading

(B) Person to Person comparison
(C) Ranking

(D) None of the above

Which one of the following is not

the fundamental procedure that

should be considered for the

collective bargaining ?

(A) Prenegotiation phase

(B) Selection of Negotiators

(C) Tactic and  Strategy of
Bargaining

(D) None of the above
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(C) S HEIHIT, TR, TI

(D) TR, YOTeH, TSRO

fefafad & 9 =9 91 999 G99
Yo T fohaTenes 1 Tal 87

(A) o
(B) fg=or
(C) efegf
(D) T
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32.

33.

34.

frefafaa & & S 91 HIifgs uferemo
TsHAT % A | T € 2

.  3TISTeh AN AT

2. S U AT
3. ot s
4. TTeTEIOT i TEART
5. oA

A 1,2,3,4,5
B) 2,1,4,3,5
€ 1,4,2,3,5
D) 3,1,2,5,4

IR goaierT i foh Ugta & 3ia,
ATl B HE & WA B H T F
T ¥ UH AT B T GIh A
T Bl ST & 2

(A) wfem

(B) AT ol =TT | ot
(C) I

(D) STH H § HFE Tl

frfefad & @ geryd ufshan i o @t
¢ 8 amfes dRent & fod e |
ST A 2

(A) st gef =’

(B) HHSACIHR o =T

(C) Hresit <br exdiehn U oA
(D) STEF | W g Tl
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35.

36.

Assertion (A) : Inevitably the firm
must go to the external sources
for lower entry jobs.

Reason (R) : For positions where

required qualification/

experience are not met.
Codes :

(A) Both (A) and (R) are not

correct.
(B) (A)is true, but (R) is false.
(©) (R)is true, but (A) is false.
(D) Both (A) and (R) are correct.

Match the following items of List — I

and List — II :
List -1 List — II

1. Asbestos I. Lung Cancer

2. Benzene II. Cancer
3. Ethylene III. Leukemia
Disbromide
4. Kerosene IV. Acute
Nervous
System
Depression

Codes :

I 1 1o 1Iv

A 4 2 3 1
® 4 3 2 1
© 1 3 2 4
™ 3 4 2 1

Paper-I11
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37.

38.

39.

40.

Assertion (A) : Business Economics
is tool centrics facilitating
decision making in business.

Reason (R) : It provides an
analytical understanding of
economic activities.

Codes :

(A) Both (A) and (R) are not
correct.

(B) Both (A) and (R) are correct.

(C) (A)istrue, but (R) is false.

(D) (R)is true, but (A) is false.

Demand has the following elements :
(A) Quantity

(B) Price

(C) Time

(D) All the above

A perfectly competitive firm attains
equilibrium when

(A) AC=AR
(B) MR =MC
(C) MC=AC
(D) TC=TR

The purpose of job evaluation is
(A) Fixation of Responsibility
(B) Promotion

(C) Wage Determination

(D) Transfer to a better job
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35.

36.

At (A) : 9w 9= F o
T I A dTer Aidl & I
ST =R |

HROT (R) : 37 T&1 & o7 et emfera
T/ NE [ TR % R ¢ |
(A) (A) 3R (R) 3T Hel T& € |
(B) (A) W&, W (R) IEAE |
(€©) (R)TAE T (A) IFAE |
(D) (A) 3R (R) T & ¥ |

T — 1 R gl — 11 1 7Sl 1 ferm
Eoe

et - 1 T - 10
[ TR 1. S I HH
I a=i= 2. HW

III. wfrere 3. g
[EELIECY

IV. &= 4, g oG a

I I I Iv
Aa 4 2 3 1
B 4 3 2 1
© 1 3 2 4

@ 3 4 2 1
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37.

38.

39.

40.

afvmeT (A) : TEIEE R
g § i o ot o A
T ST FE ¢ |

HROT (R) : TE MIH Tiarerear s
forgeTuuTIee: THeT USH AT ¢ |

F:
(A)
(B)
©
D)

(A) 3T (R) T W& =&l & |
(A) 31X (R) 1 T ¢ |

(A) T &, Al (R) 3T & |

(R) T ¢, W (A) AT |

i % fefefad a8 &
(A) ==
(B) wHma
© w3

(D) S T+t

Ul Uiqeqe it ®H Gder a9 ure
ETGIRAS T

(A)
(B)
©
D)

AC=AR% |
MR =MC ¥ |
MC=AC? |
TC=TR T |

1 Teih 1 32T &

(A) STEIGE HEad HET
(B) WA

(C) Hrgdl o Feior

(D) &R H § TR
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41.

42,

43.

44.

45.

For testing of hypothesis H, : M, =
M, and H, : M, < M,, the critical
value of Z at 5% level of

significance when size of sample is
more than 30 is

(A) 1.96
(C) 1.645

B) 232
(D) 2.5758

Which of the following is the non-
random method of selecting samples
from a population ?

(A) Stratified Sampling

(B) Quota Sampling

(C) Systematic Sampling

(D) Cluster Sampling

If the two regression coefficients are
0.8 and 0.2, then the value of
coefficient of correlation is

(A) +0.16 (B) -0.40

(C) -0.16 (D) +0.40

Which one of the following is a
relative measure of dispersion ?

(A) Standard deviation

(B) Variance

(C) Coefficient of variation

(D) None of the above

Assertion (A) : Internal factors of
business environment  are
controllable factors.

Reason (R) : The company can alter
or modify such factors to suit
the environment.

Codes :

(A) Both (A) and (R) are correct.

B) (A) is correct, but (R) is
incorrect.

(C) Both (A) and (R) are incorrect.

(D) (A)is incorrect.
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46.

47.

48.

49.

The concept of ‘Rolling Plan’ in
India was introduced by the

(A) BJP Government

(B) Janta Government

(C) Congress Government
(D) All of the above

Which one of the following is an
obstacle to globalisation ?

(A) Wide base

(B) Niche markets
(C) Obsolescence
(D) Competition

‘VSAT’ technology is first followed
for on-line trading by

(A) BSE (B) OTCEI
(C) NSE (D) ISE
Match the following :
List -1 List - 11
Years Act
(@) 1956 (i) Consumer Protection
Act
(b) 1986 (ii) Indian Companies
Act
(c) 1992 (iii) Securities and
Exchange Board of
India
(d) 2002  (iv) Securitisation Act
Codes :
(@ (M (@© (@
A) G @ @G @0v)
B @O a) @G @v)
© Gy G @ aGv)
D) @O Gv) () a6
J-08-12



41.

42,

43.

44.

45.

aiEeT T Hy: M, =M, 3R H, : M, <
M,, =T TeI0T T o ford, Staffep Heet
N HR 30 § TR 8 W, HHHAT 6
5% TR W Z 1 fopfeet g g &
(A) 1.96 (B) 2.32

(C) 1.645 (D) 2.5758

qfte T UTAee & o9 S G esH
i i e 2

(A) TR wfa=ad

(B) e uid=a=

(C) Trarma uid=a=

(D) T=RR idedT

I HTeRTH ToTieh ShAST: 0.8 T 0.2 €,
T TEHE HI OIS &

(A) +0.16 (B) —0.40
(C) -0.16 (D) +0.40

Y9I 1 qoel A fFEfatEa 9 3
g7

(A) HHF faae

B) THOT

(C)  TereRoT =t TuTieh

(D) SUFe § ¥ HIE Tl

ATUHUT (A) : QNS AR &
ARF Tk =g = e
g

HIOT (R) : FHIET UH 52hi T 16T
% UG S & ford aRatad ar
HeNTe o Fehdl € |

@ :
(A)
(B)
©
D)

(A) 3T (R) 31 & |
(A) W1 &, W (R) T & |
(A) 3T (R) 3T i & |
(A) T |
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46.

47.

48.

49.

IR § AT @ (T FST) B
TR fhae ufauifed & & 2

(A) ST WHR

(B) ST AR

(C) U TWHR

(D) o T+t

JHATSARROT i el Fefared ¥
FAE ?

(A) =H R
(B) ™= =R
(C) 3vaeH
(D)  wfceTet

AT FRER F fo1d of Tg T 3’
TR Tawerm e 3ToATe of 2

(A) SHTgeA
(B) M
(C) TwEsH
(D) METHTH

fre=ferfaa =1 foem #X
= -1 = - 10
ag arfafam
(@) 1956 (i) ST TR ATaaH
(b) 1986  (ii) YR FHHAT AT
(c) 1992 (iii) wRd ufayfd wa
fafrg are
(d) 2002  (iv) wfyfeRToT St
T
(@ b (@© (@
A) G) (@) @i (v)
B) @O G (i) (@Qv)
© G @Gi) @G Gv)
D) @ @Gv) @i) (i)
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50.

S1.

52.

53.

The flagship project of Government
of India launched for generating

guaranteed employment in rural
areas is known as

(A) PMRY (B) MNREGA
(©) JRY (D) NREP

The conflicts in project ranking in
capital budgeting as per NPV and
IRR may arise because of

(A) Size disparity
(B) Time disparity
(C) Life disparity
(D) All the above

The degree of financial leverage
reflects the responsiveness of

(A) Operating income to changes
in total revenue

(B) EPS to changes in EBIT

(C) EPS to changes in total
revenue

(D) None of the above

The overall capitalisation rate and
the cost of debt remain constant for
all degrees of financial leverage is
advocated by

(A) Traditional Approach

(B) Net Income Approach

(C) Net Operating Income
Approach

(D) M-M-Approach
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54.

5S.

56.

Which of the following is not
included in the assumptions on
which Myron Gordon proposed a
model on stock valuation ?

(A) Retained earnings, the only
source of financing
(B) Finite life of the firm
(C) Taxes do not exist
(D) Constant rate of return on
firm’s investment
Match the following :
List-1 List — 11
(i) Factoring (a) Cash
services Management
(i1) Economic (b) Receivable
Order Management
Quantity
(iii)Commercial  (¢) Inventory
paper Management
(d) Working
Capital
Financing
Codes :

(i) Gi) (i)
A (@ (© (O
B) © @b (a
©C ® © @
D) b)) @ (©

Assertion (A) : International
business focuses on global
resources, opportunities to
buy/sell worldwide.

Reason (R) : The efforts of IMF,
World Bank and WTO to
liberalise their economies led
to globalisation.

Codes :

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C©) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.
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50.

S1.

52.

53.

T & W RS ISR gRea
T F [ IRAT WHR & TR
ST & TR ®T | ST ST & 2

(A) T R A
(B) THTAARSSNT
(C) & AN

(D) T AT

TT O A qA ST 3N SR F AR
USRI oS | URASHT SO
et forty o RT3 Bl & 2
(A) STHR T
(B) HHI &l fawHar
(C) Sfta =t fawwan

(D) 3w o+t

fodi  SHlom / oeRst & feur
Ffafea = ufateaRiear Wi st
g

(A) FA W H UREaH Ul
IR T

(B) T o1E 2 | UREaHl W E Ut Uy
(C) %ot 3 H gREdHl W 3 0 Ty
(D) SUIH | I HIE T

T gfve / fefimt & foxim ofiels
(ST & o ol $SiieoT 3T e
FOT B AN R @ € sHe e
AT hl ?

(A) IRTRE IITH
(B) = T 3UMH
(C) = UREeH 3T 3UrTH
(D) TH-TH 3UFTH
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54.

5S.

56.

e e 3 o9 A=arel W i
fr=ferfiad o @ =1 gatae T8l & 2

(A) VTR 3T, foaiwoT % U
T &g

T T AT Sie
T I T 7 g
& & (e W ufadet @ fer 5

(B)
©
D)

F=fatea = e Y
e -1 =t - 11
(i) TSR oIEr 56 (a) THS TaT
Fartt

(il) 3T ART () VT T U=
HEAT

()T o (¢) Tefaar vemee
OERNER
fore aioor
HT:

@» () (D)
A @ (© (b
B) © b (@
<G ® © @
D) b @ (©

e (A) : TR AR vy
T wafoeg & @ dfvas
TS, 3O W & hisd
FATE |

FROT (R) : O feerens &
WA A & o T A T,
foreer o e Ty 2F o % T
J TSI I SR UG HAE |

(A) 3 (R) THT TF & |
(A) 3T (R) THT 3T € |
(A) T ¢, W= (R) A T |
(A) I §, W (R) TAE |

(A)
B)
©
(D)
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57.

58.

59.

Match the items of List — I with
items of List — II :

List-1 List — 11
(1) Wider Market 1. Modes of
Entry
(i1) Turn key 2. Goal of
Projects International
Business
(iii)) Expanding the 3. Advantages
production of
capacities International
Business
(iv) Geocentric 4. Stage of
approach Globalisation
Codes :
i) @) @) @GQv)
A 4 2 3 1
B) 3 1 2 4
<o 1 2 3 4
(D) 4 3 2 1

BRICS includes

(A) Bhutan, Romania, Indonesia,
Chile and South Korea

(B) Brazil, Russia, Indonesia,
Chile and Sudan

(C) Brazil, Russia, India, China
and South Africa

(D) Britain, Russia, India,

Czechoslovakia, Sri Lanka

Out of the following, one is not
related with WTO :

(A) TRIPS

(B) Ministerial Conference
(C) TRIMS

(D) TRAI
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60.

61.

62.

Balance of Payment includes
components
(A) Current  Account, Capital

Account, Unilateral Payments
Accounts, Official Settlement
Account

P & L
Account,

(B) Revenue Account,
Account, Capital

Official Account

Trade Account, Activity
Account, Revenue Account,
Currency Account

©

(D) Forex Account, Trade

Account, Funds Account

Assertion (A) International
Monetary Fund was set up in
1944.

Reason (R) : To
international
cooperation

promote
monetary
through a
permanent institution which
provides machinery for
consultation and collaboration

on international monetary
problems.

Codes :

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true.

(C) (A)is true, but (R) is false.

(D) (R)is true, but (A) is false.

The commercial banks do not
perform one function out of the
following :

(A)
(B)
©
D)

Mobilisation of savings
Giving Loans and Advances
Issuing Currency Notes

Financing Priority Sectors
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57. gt — I &l 7&1 6t gt — 11 6 781

58.

59.

Wﬁﬁfﬂﬁﬁ
e -1

(i) =IF AR

(ii) 1 = ASERE 2.

= - 11
T & &I
R 2R
HT AT
TR =R
% T

p—

[9S)

(iii) ST i
THAT3T hT
TRy

(iv) TS SO 4. SvelETOT H

rereen

&

&<
(i @G @) Gv)
A 4 2 3 1
B) 3
© 1
4

1 2 4
2 3 4
(D) 3 2 1
it TR 27 | U (BRICS) | INMTHA &

(A) Y2, TN, SSHTeEn, el
3R THRI0T I

(B) NI, ®F, TSMMET, el 3R
g

(C) T, ®F, WRA, I 3 IRA0T
ST

(D) foIeA, &9, YRG, R,
siteTent

frafafed & ¥ u® s=den 9
Wﬁ‘dﬁqﬁ%:

(A) T AR e O Uy

(B) ThwHEca HHAd

(C) 3 IR 31 tq uq

(D) 2 AT e
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60. JOF TqeW H efafad  FEe®

61.

62.

gifere & €

(A) =] @, I T, T
A G, I @I
T, I QT

R @I, Tarare @, ST
T, H! Gt

T @I

(B)

©

(D)

ATUHUT (A) : SIATLR qFT BT 1944
T T g3 o |

HROT(R) : SR Hifsh TearT ol
TS T G % ey 9§ e
T % fo wnfug gem St f®
U Hifgsd  wmenst W
TR AT FEAT I ATl FEH
FATE |

FHT:

(A)
(B)
©

D)

(A) 3R (R) IHI 379 & |
(A) 3R (R) 3H T € |
(A) T &, W (R) AT |
(R) T &, W] (A) HAE |

afoTieres S F=fated § ¥ T &
BHEZGES

(A) Sl T HUE

(B) SO AT YA ST

(C) AT A FHHT / STRE AT
(D) wmtHes &3 i foraifae e
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63.

64.

65.

There are two lists of items, match
the items of List — I with items of
List—1I:

List-1 List - II
I. Reserve Bank 1. NPA
of India
II. EXIM Bank 2. Facilitating
Small Scale
Industries
II1. SIDBI 3. Credit Control
IV. Capital 4. Export/Import
Adequacy Financing
Codes :
)| I I 1Iv
A 1 2 3 4
B) 4 3 2 1
<c 2 3 4 1
D) 3 4 2 1

One of the items is not related with
e-banking :

(A) Demand Draft
(B) SPNS

(C) ECS

(D) ATM

Assertion (A) The Treasury
Manager uses the derivatives
in the Bond market as well as
in Forex market.

Reason (R) : It helps risk coverage.
Codes :

(A) Both (A) and (R) are false.
(B) Both (A) and (R) are true.

(C) (A)istrue, but (R) is false.
(D) (R)is true, but (A) is false.
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66. Factoring and forfeiting have not

67.

68.

taken off in the Indian economy due
to lack of expertise and experience.
One is not included in the factoring
services rendered.

(A) Purchase of book debts and
receivables.

(B) Prepayment of debts partially
or fully

(C) Giving advice

(D) Covering the credit risk of the

suppliers

Which one is not the form of FDI ?

(A) Purchase of existing assets in

foreign currency

(B) New Investment in property,
plant, equipment

(C) Making investment in the
mutual funds

(D) Transfer of many types of

assets

Match the items of List — I with
items of List — II :

List -1 List — II
1. Measures I. Globalisation
towards
globalization
2. Off-shoring II. FEMA
3. FERA III. Liberalise the
inflow of FDI
4. Mr. Aruthur  IV. Uruguay
Dunkel Round
Codes :

1 2 3 4
A M 1 T IV
@ I 1 1 IV
© IV 1 1 1
M 1 1 IV I
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63. T — 1 = w3l A gt — 11 & 7]T &

64.

65.

Wﬁﬁfﬂﬁﬁ
e -1

I Readwsie 1.
HERI

1. Uiy S 2.

=it - 11
WU T

g T %
ST
BRI e
HAT

I TF 27E §f g HI=oT

3Tg
IV. ISt waiear 4.

|9S)

BRI IRIG
TerareoT

T
(A)
(B)
©)
(D)

W N B = -
B~ W W N
e

frafafed & ¥ s A% S&fET |
TrStYd el ¢

(A) Terie grwe

(B) THU wATH

(C) sdiwH

(D) wdww

AfHeE (A) @ HUMR YEFH G0
TR H T HEE IR
eI T ST BT & |

HROT (R) : I SIMEH et § Feradr
FATE |

He

A)

(B)

©)

(D)

(A) 3T (R) THT 3T € |
(A) 3R (R) T T & |
(A) = 8, W (R) EAE |
(R) ¥ &, W= (A) ATA T |
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66.

67.

68.

IR oeeen o, fouiusar  den
3TIE & ST T T qAT RIRIT
URTT &l Y § | hae garei H
TfeEd & § T SiAfer ol ¢
(A) T TERI SR e foost &t
LERS

FON HSARTE AT Tﬁﬁ: E(é
T

AR 3T

SMyfaehdien o 0T Gy i
AT HEAT

(B)

©
D)

Al & ¥ 9 |1 UF S 3ME H

Y TR E 2

(A) foemm  oftmmfeat o fogen
A H BT

(B) Twfd, TI, SUSHUT | o [aleT

(C) T3 hgd H A T

(D) ¥&d ¥ UPR HI IRGErEr
T

et — 1 & AE & gt — 11 & /G &6
Wﬂ'ﬁfﬁﬁﬁ

= -1 = - 11
]. SO | OV
g
2. SUAIEeT  II. WET (U UH T)
3. THEIRT L THE 3R H
3. dlg bl
STRIHIT
4. off SR EHA V. 359 T

&<

A M 1 T IV
@ O 1 m IV
© IV 1 1 1
@ 1 1 IV II
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69.

70.

71.

72.

Which one of the following is not
the advantage of MNCs to the host
country ?

(A) Increase in social activity

(B) Increase in economic activity
(C) Utilisation of natural resources
(D) R & D efforts enhanced

India suffered from deficit balance
both in trade balance and net

invisibles, hence, took up a number
of steps to manage this problem.
Which one is not appropriate for this ?

(A) Export control

(B) Current Account Convertibility
(C) Liberalised Export Policy
(D) Unified Exchange Rate

Mr. James, a citizen of U.S., arrived
in India for the first time on 1* July,
2010 and left for Nepal on 15"
December 2010. He arrived to India
again on 1% January 2011 and stayed
till the end of the financial year
2010-11. His residential status for
the assessment year 2011-12 is

(A) Resident (ordinarily resident)

(B) Not ordinarily resident
(C) Non-resident
(D) None of the above

The value of free accommodation in
Delhi provided by employer in the
private sector is

(A) 10% of salary
(B) 15% of salary
(C) 20% of salary
(D) 25% of salary

73.

74.

75.
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Which of the following is not a
capital asset under capital gains head
of income ?

(A) Stock in trade

(B) Goodwill of business

(C) Agricultural Land in Delhi
(D) Jewellery

Match the items of List — I with
List—1I:

List-1 List - II
[. Tax 1. Making suitable
Planning arrangement of
TDS
II. Tax 2. Understatement
Avoidance of Income

III. Tax Evasion 3. Availing

deduction
under Section
10A of IT Act.
IV.Tax Admini- 4. Misinterpreting
stration the provisions
of the IT Act
Codes :
I 1 1 1Iv
(A 2 1 4 3
B) 1 4 3 2
< 3 4 2 1
(D) 4 1 3 2

Under the Income Tax Act, 1961
unabsorbed depreciation can be
carried forward for set-off purpose :

(A) For 4 years
(B) For 5 years
(C) For 8 years
(D) For unspecified period
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69.

70.

71.

72.

fafafea & &9 9 ™ T 99 &
TSE <9 o ford o i € 2

(A) IS TdTary § g
(B) e niffaty § gig

(C) VITHideh T T ST
(D) @R Ud S YA I FgHT

IRA & ANR GqeE a2 J&/Haa
3EY IEI3M AT H el ge, T,
39 T 9 e & o 5 U o
T | frEfeiEd § 9 $F 91 560 ol

TG &l & ?

(A) T fFae=or

(B) e WA URECSIedT
(C) SR i i
(D) TR o &

st Steg, St .09, % AR &, ST 1,
2010 I T I 9YRT T 3 AR 15
@@ 2010 & 99T &% @ e
TE | o AR SHAR 1, 2011 W 9RA
I 3R fomim a9 2010-11 & 3id dF
® | w Furer a9 2011-12 & o @
ITH SETE g1

(A) Tamgr (e e
(B) 3THTYROT e

(C) arsr

(D) SUIH H I HIE T

oot # ot &9 o e /1 oeH
fepT ST et . 97eek STaTg 1 Jod &

(A) T H 10%
(B) add & 15%
(C) add = 20%
(D) o H 25%

73.

74.

75.
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3T o ST o e o i
ST uREm Fefatad § F % 9
T T2

(A) SURE T

(B) SR & &G

(C) feoedl H i 4iH

(D) St

g — [ 0 7]1 R gEr — 11 H AE 6
Wﬂ'ﬁfﬁﬁﬁ

e -1 = - 11

[ & HaeE 1. AT H
ST FT
T

II. &< URErR 2. T H FH
feEm

1. & g9 3. 3TgHT AUl
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